EA2E [ ERIEETSYY-J73)—KE
C1 5kmO—KB h#BEF

JIg {5z No. K£ mETs  mEYSD 08X
1| 5512/Mék ERE |anyy ynr [BEET  |BEERHABRER 0:17:01
2| 5513|F%IE HIE |79 Vv vaov [BKfET [CRS 0:17:29
3| 5509[IIAA 3t [(A79Fv a9 |BEW  |BEPER 0:17:45
4  5517|570& FIRER[/Y % Yanvsng|sLiEm  [EA TARC 0:18:00
5| 5518[;a%% Z5—ER[h7/ ¥4 FOyALIE™  |EA TARC 0:18:16
6] 5516|55H T [yn41ag (LRt |FLIRERIEE R ER|  0:18:36
7| 5508[H{H #AF [47h 29k FTEh_ | FTREEPER 0:18:38
8] s5521|FE+E &H4h'5) 1ok [ALiRTE  [BEEPER 0:19:47
9] 5504|KHE R [¥% bl FEm | FTREEPRFER 0:19:56
10[ 5503| B K&E |71h7 44y  |&E/NM&E [E/NISSES 0:20:23
11] 5510{= )1l IBE [3vh7 b5 | E/Wh | EwEESSD 0:20:33
12| 5505|F%F:  [FE|®YU4h 443 FiEEm  [TEREETER 0:20:42
13| 5506/ EH fiK [71% 1944 [FEMH |FTRELPFK 0:21:00
14| 5502|%#k S1= |3t shet  |fLE™ [FrALIERC 0:21:08
15|  5526|%r8k RN |Vob 0 3a0AY|ERET  |EEHAEFETF] 0:21:08
16| 5522|FIER BH |7A EOb fLiRth  [ALIETEFEPF] 0:22:.08
17 5529|2H EH |408 741 B ZHET E%::*;x 0:22:10
18] 5527|A&AFE BE |hvYam /v | FET  [FEbER 0:22:27
19]  5501| KR4t 1 347 7oAy |BERR™ [ K&773)— 0:22:28
20| 5519([FA F|HE [n7F L7 FTEh | FTREPER 0:23:10
21| 5530|405 |18 a9¥ EERX IR EEEE 0:23:20
22| 5507|EiE FEARER[Y7Vr 2409 [E/h R AR 0:23:31
23| 5528[1kBE KR [¥I) 44% FEh 0:23:38
24| 5511|F&M 2k [V 4h 0t [FEH [ FHEPFER 0:23:40
25| 5514|HE HZ2 [4vw7i1h  [E/)WHh [EEHFR 0:26:19
26|  5523[/\ K éﬁ% ¥ vty FEINSHETEEES R 0:27:13
27| 5524|F8F4E @3 Eyzay b [ E o [ BE D AR 0:27:18




